4.3_2 Homework Corrections (Fall 2017)-f17 October 27, 2017

Entertainment: Do #7 first...pp.227-228 #7*ef, 3, 8, 9, 12** 13** 14, 15
Challenge: #18 od - ’or —
*use [BEEIe o confirm your answers;

** the text has answers rounded in the back, but you must state your answers as exact values

p.228

12. A rock is tossed from a platform and follows a parabolic path through
the air. The height of the rock in metres is given by
h(t) = —5#2 + 12 + 14, where #is measured in seconds.
a) How high is the rock off the ground when it is thrown?
b) How long is the rock in the air?
) For what times is the height of the rock greater than 17 m?

d) How long is the rock above a height of 17 m? { _ - é f J ba qﬁ.c
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p.228 W Zxw
13 A[‘l OPED-I’OPPEd bGX can be made ﬂ'Ol‘Il a sheet Of aluminium

(A measuring 50 cm by 30 cm by cutting congruent squares from the v y/g D-;y) { 30 9 X)

four corners and foldmg up the sides. Write a poh rnomial function

to represent the volume of such a box. Determine the range of side
lengths that are poss bl for each square that is cut out and removed
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p.228 #14b

Without a calculator, explain why
—4x"? — 7x® +9x2 + 20 < 30 + 11x’ has a
solution of — % < x << =,
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October 27, 2017

15. Explain why the following solution strategy fails, and then solve

the inequality correctly.
Solve: (x + 1)(x—2) = (x+ 1)(—x + 6).
Divide both sides by x + 1 and getx — 2 = —x + 6.
Add x to both sides: 2x — 2 = 6.
Add 2 to both sides: 2x = 8.

Divide both sides by 2: x = 4.
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